Sclerm (DF)

TRS 4
4 THIRD REVISION EXAMINATION-2024
10 -sm MATHEMATICS
Time 39'0 Hrs Marks : 100
e ROARY -]
14X1=14

CHOOSE THE CORRECT ANSWER:
1. Let A={1,2,3,4} and B={4,8,9,10}. A function f: A— B8 given by f= {(1,4),

(b) Identity function  (C])One-to-one function

(2,8), (3,9}, (4,10)}is 2

(a) Many- one function (d) Into function

2.f(x) = (x+1)>- (x- 1) represents a function whichis

(a) Linear (b) cubic (c) reciprocal @quadratic
3. Using Euclid’s division lemma, if the cube of any positive integer is divided by 8 then the possible
(d)1,3,5

remainders are @ o132 (b) 1,4,8 (c) 0,1,3

4. In an A.P. the first term is 1 and the common difference is 4. How ma
betaken for their sum to be equal to 120?

ny terms of the A.P. must

(a) 6 (b) 7 @ 8 (d)9
5. The values of a and b if 4x"~ 24> + 76x* +ax +b isa perfect square are
" (a) 100,120 (b) 10,12 ((@)-120,100 (d) 12,10
1 .
C The roots of a quadratic equation 4x* —9x +2=_0are
1 1 Py 3 0" =
(a) -2, 2 (b) -4, 3 /ﬁ:__J/-Z‘ & (d) -4, T
1 <
c (7)3v/% =9 then value of xis
(a) 3 (B9 (c)1 (d) 5
'\_‘_/‘ =

8. The two tangents from an external points P to a circle with centre at O are PA and PB. If ZAPB =
70° then the value of ZAOBis

(a)100° dbp110° (c) 120° (d) 130°
9. The point of intersection of 3x-y =4 and x+y = 8is
(@53 (b)(2,4) (€)(3,5) (d) (4,4)
C / @'(coté? + cosech)) (cotf — cosech)is
(b) 0O @1 (d) 2cotf

(a) 1
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11. Atower is 60 m height. Its shadow is x metres shorter when the sun’s altitude is 45 thatih
it has been 30°, then xis equal to
(a) 41.92m ; 43.92m (c) 43m -

ernal and internal radil is 14cm and

(d) 45.6m

the width is 4 cm. If

12. In a hollow cylinder, the sum of the ext

_ its height is 20 cm, the volume of the material initis !
(a) 5600mcm’® (@nzoyncm’ (c) 567 e’ (d) 36007 cm’
13. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and
same height is >
(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 @3:1:2

C'f @lf P(ANB)= 0.3 . P(4 NB)=0.45 then value of P(B)
(a)0.14 (b) 0.30 @0.75 (d) 1
PART - Il

ANSWER ANY 10 QUESTIONS. QUESTION NO.28 IS COMPULSORY: 10X2=20

15. LetA ={1,2,3,7} and B={3,0-1, 7}, which of the following are relation from A to B?

(i) Ry={(2,1), (7.1)} (i)Rz2= {(-1,1)}
16. Let f{x) = x>~ 1. Find fofof

17. Compute x, such that 10* = x (mod 19)

18. Find the sum 3+11—; +....00

: 4 4,12 16
19. Find the square root of the following rational expression. 2000 s dvi
100 xBydz4
20. Determine the quadratic equation, whose sum and product of roots are o -1
2 ’

21. In A ABC, D and E are points on the sides AB and AC respectively such that DE || BC

(i) If e d
i —_— e = i
S 4 and AC=15cm and find AE

22. Find the equation of a straight li i el i
q of a straight line which has slope 7 and passing through the point (—1,2)

23. Check whether the given lines are perpendicular
Sx+23y+14=0and 23x -5y + 9=0

24. Prove the identity sec®0 =tan’ 0 + 3 tan? @ sec 20 +1
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25 Apiayer sitting on the top of a tower O PSBHt 20 1 cisceryes the angle of depression of a ball
n;:;;nmesrwndasw.ﬁdﬂmdﬁwﬂ%ﬂmfmw&www and the ball.(v3
iy # _

'26‘ MﬁﬁmﬂedaCﬂﬁMMheightEZmamuh ¢ amé"‘z-*so-";‘i‘

]

27. what is the probability that a leap year 56°%8d at random will contain 53 sémrday&
28. Find the G.P in which the 2™ term isvV6 273 the 6% termic 9B
PART -y

ANSWER ANY 10 QUESTIONS. QUESTION NO.4Z IS CompyLsoRry: 10X%5=50

29. Let A = {x€ W] x<2}, B = {x €N| 1< x <4} and €= 3,5}, Verify that (AUB) XC = (AXC) U (BXC)

; e o e i
30. Let 248 be 3 function defined by fix) = -1, where A = {2,4,6,10,12}, 8 ={0,1,2,4,5,9}.
Representfby (i) set of ordered pairs (i) 2 t3ble (iii) 2n arrow diagram {iv) a graph
31 I pi X p;- X pPX p =113400 where p: P2 Pa Pe are primes in ascending order and Xy, Xz X

32. The sum of first n, 2n and 3n terms of an A.P. are 54 §; and S; respectively
Prove that S, = 3(S ;-5

zpeed. Had the speed been 15 km/hour more it
Find the original speed of the bus.

AB)'=B A
are at A(-5,7), B=4, k), c(-1,- 6) and D {4, 5) and its area is 72

a cylinder with two

ngth is 12 cm. If each

rcular ends are 18 m and 16
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Rainfall (in mm)

e

Number of places

_ 42. Anand chooses a date at random in-April mopgh for 2 tour program. Find the probability that he
" chooses (i) a Monday ; :

(ii) a Wednesday

( (iii) a Friday
(iv) a Saturday or a Sunday .
April \
 Monday g ¥ T e,
Tuesday 5 12 19 | 26
Wednesday 6 13 20 [27 |
Thursday 7 14 21 l 28 1
Friday 1 F] 15 22 ‘ 29_\
Saturday 2 9 16 23 l 3U
Sunday 3 10 17 2 l l
PART - IV

ANSWER ALL THE QUESTIONS: 2X8=16
43 a)-Draw. a circle of diameter 6 cm from a point P, which is 8 cm away from its centre. :
Draw the two tangents PA and PB to the circle and measure their lengths. (OR)
b) Construct a APQR such that QR =65 cr_n,'LP = 60° and the altitude from P to QR is of length
4.5 cm. .
44 3) Draw the graph of y=x +x and hence solve x*+1=0(OR) :

b)Draw the graph of xy =24, x,y > 0. Using the graph find , (i) y when x =3 and (ii) x wheny =6
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